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Step== [ Mu On Hot Wall== 6.74339
Rezidual of Th== 3.646711E-84 Rezidual of Flow== 4 _827527E-B4

Step== ? Hu On Hot Wall== 6.28338
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Rezidual of Th== 1.23928RE-B4 Rezidual of Flow== 2_88B252E-B84

Step== b Hu On Hot Wall== 6.220088
Residual of Th== ?.172368E-85 Reszidual of Flow== 4. 282144E-B84
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u On Hot Wall== 6.32749

Step== 18 M
Rezidual of Th== b .-.661A@3E-AS Rezidual of Flow== 2_999598E-84

Step== 11 Hu On Hot Wall== 6.18478
Residual of Th== 6.249132E-85 Reszidual of Flow== 1.851446E-B84

Step== 12 Mu On Hot YWall== 6 .44726
Rezidual of Th== L.A88376E—AS Rezidual of Flow== 2.821156E-84

Step== 13 Hu On Hot Wall== 6.18886
Residual of Th== 4_868565E-85 Reszidual of Flow== 1.181622E-B84
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Call Fluid_Flow

Call Temperature_Distribution

If(iTStep-StepCR*(iTStep/StepCR)<0.01)Then

Call Output

Print*,'Step==",iTStep/StepCR," Nu On Hot Wall==",Nuavg

Print*,'Residual of Th=="ResT,' Residual of Flow=="'ResF

End If

Call Residual
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End Do

Call After_Solution
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Do i=1,n-1
Do j=1,m-1
t1=u(ij)*u(ij)+v(ij)*v(iJ)
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f(1,1:n,7) =f(1,0:n-1,2)
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f(4,:,0:m-1) =f(4,:,1:m)
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v(i,])=Sum(f(:,i,j)*ey(:))/Rho(i,j)
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Do i=1,

End Do

n-1

Do j=0,m

t1=u(i,j)*u(i,j)+v(i,j)*v(i,j)

Do k=0,b

t2=u(i,j)*ex(K)+v(i.j)*ey(k)

geq(k,i,j)=Th(i,j)*w(K)*(L.+3.*12+4.5*12*12-1.5%t1)

g(kLp)=g(k1.j)+(geq(k,i.j)-g(k.i.j)/ ThowT

End Do

End Do
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g(1,1:n,:)=g(1,0:n-1,)

g9(2,:,2:m)=g(2,:,0:m-1)

g(3,0:n-1,:)=g(3,1:n,:)

g(4,:,0:m-1)=g(4,:,1:m)

9(5,1:n,1:m)=g(5,0:n-1,0:m-1)

9(6,0:n-1,1:m)=g(6,1:n,0:m-1)

g(7,0:n-1,0:m-1)=g(7,1:n,1:m)

9(8,1:n,0:m-1)=g(8,0:n-1,1:m)
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9(3,n,0:m)=ThC*(w(3)+w(1))-g(1,n,0:m)
g(6,n,0:m)=ThC*(w(6)+w(8))-g(8,n,0:m)

g(7,n,0:m)=ThC*(w(7)+w(5))-g(5,n,0:m)
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9(5,0,0:m)=ThH*(w(5)+w(7))-g(7,0,0:m)
9(1,0,0:m)=ThH*(w(1)+w(3))-g(3,0,0:m)

9(8,0,0:m)=TbH*(W(8)+w(6))-g(6,0,0:m)
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g(7,0:n,m)=g(7,0:n,m-1)

Los 595 @b bl oS anlS g(4,0:n,m)=g(4,0:n,m-1) el
223 0,8 yao ply 50 )0, 9(8,0:n,m)=g(8,0:n,m-1)
Gle im0 byi Jleel @l g(2,0:n,0)=g(2,0:n,1)
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o2 13 jho ply ey,

9(6,0:n,0)=g(6,0:n,1)

9(5,0:n,0)=g(5,0:n,1)
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A.L:.g‘) d.ol.?).) .!a,b
Do i=1,n-1
b-1 Do j=0,m
T - gi
i=0 Th(i,))=Sum(g(:,i,j))
End Do
End Do
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Residual .39 ple -V

QLQ.M.M) @‘)io_m W Lg‘); w9 ‘a; 9 O yw o)|%o 93 (59, W Q‘)"“’ ).,|).: dusle Lg’ELa.a_.o LSLQ)LA.&A
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Mlﬁﬁ Ja,.‘a”

T Ju(x t+At)-u(x.t)]

Residual of flow=

T[T (AT (x.1)]

Residual of temperature =

Z[u(x)]

[Tl

Do i=0,n
Do j=0,m
Su=Su+U(i,j)**2+V(i,j)**2
St=St+Th(i,j)**2
ResF=ResF+(U(i,j)-UOId(i,j))**2+(V(i,j)-VOId(i,j))**2
ResT=ResT+(Th(i,j)-ThOId(i,j))**2
Uold(i,j)=U(i,j)
VOId(i,j)=V(i,j)
ThOId(i,j)=Th(i,j)
End Do
End Do
ResF=Sqrt(ResF)/Sqrt(Su)

ResT=Sqrt(ResT)/Sqrt(St)
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WLt ) b 4 (gl ol (el otz
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Cwyd b plae Result.dat LB o ob,> bs 5 sogee g (88l slace o dos slo,g5lS Ol -Y

Tecplot «b .
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<5 5l e Gy bghs 55l apulo
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S, pol> musg

Strf(0,:)=0.

Do i=1,n

End Do

Rhoav=0.5*(Rho(i-1,0)+Rha(i,0))

Strf(i,0)=Strf(i-1,0)-Rhoav*0.5*(v(i-1,0)+v(i,0))

Do j=1,m

Rhom=0.5*(Rho(i,j)+Rho(i,j-1))

Strf(i,j)=Strf(i,j-1)+Rhom*0.5*(u(i,j-1)+u(i,j))

End Do

Ls siTecplot bl 5 cw b 3l
wblo> o)l b 098 9,5 1L oy
oSl 5 955 £9,5 ] b

Open(20

Jfile='"Result.dat")

Write(20,*)'VARIABLES =X,Y,U,V,P,T,Stream'’

Write(20,%)"ZONE ","I=",n+1,"J=" m+1

Do j=0,m

Do i=0,n

Write(20,*)float(i)/float(m),float(j)/float(m),u(i,j)/VSc

ale,v(i,j)/\VScale,Rho(i,j)/.3, Th(j),Strf(i.)

End Do

End Do

Close(20)
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Open(10,file="Nu.dat")

Nuavg=0.

Do j=0,m
Le 0V (oo aS Sl ol pge S5 Nu=2.*(TbH-Th(1,j))*float(n)
5o Lo Lol S aulbw cde 4y o le> Nuavg=Nuavg+Nu

Nuavg=Nuavg/float(m)
Write(10,*)Nuavg

Close(10)

Do i=0,n
Write(30,*)Float(i)/Float(n),V(i,m/2)/VScale
Write(40,*)Float(i)/Float(n), Th(i,m/2)

7o oL eles 2 oleiee 5 n e

End Do

el lar

Do j=0,n
Write(50,*)U(n/2,j)/VScale,Float(j)/Float(m)

End Do
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